B bR
¥B4 | R1EL EE4925 £ KBYE=YAR2 ERFEMRGHEES E TR RS
(1) HOH ERR AT
EH - TR - Ry - M Biks HAL ek (i) ik (40R) KR e
TEE R
= 1
KRR
= 1
E R FEER
= 1
H A (A) i /R1/1, 000
km 0.15
— A IE R R
= 1
— A IE R A
= 1
GRS
f&IFT 1
) AHerE
& FT 1
TV HREE
& HT 1
7" VA ANLLBERE O F o — AR ARk
f&iFT 1
AT A
= 1
-1 - T




¥B4 | R1EL EE4925 £ KBYE=YAR2 ERFEMRGHEES E ARG
(1) HOH ERR AT
HH - AR - R - A Birk HAL ek (i) ik (40R) KR e
A1 BT
f&iFT 1
MR i A R R T
= 1
MR A B IR
X 1
BHES
= 1
TS BERERE AR BT (2 EFH A D)
& FT 1
He i
X 1
Shilm (REHED)
E2y 1
Tee%
= 1
et Hhf2[E]
ES 1
BICRIE BT & sk
BB 1
B (2 OMFAER <)
= 1
_g T IR




¥B4 | R1EL EE4925 £ KBYE=YAR2 ERFEMRGHEES E TRERF RS
(1) H A B3]
EH - TR - Ry - M Biks HAL ek (i) ik (40R) KR e
Z O AR
= 1
— W P
= 1
BRESEAITE
= 1
s FH TR
= 1
R
= 1
BRI
= 1
(=]
£ 1
HH LR
km 0. 06
HoEp I R
km 0. 06
AT & TE D (- i)
km 0. 06
HE TR & A (BRAR)
km 0.04
-3 - IR




B4 | R1BE El4925 %-KEFE-VA2 BHFMRES % i R
(1) 3 H T R
UH - U - - A1) Wi Wi | KR i) KR (A1) B i
L
= 1
) e
N |
R
= 1
) R
= 1
- L




